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#include <stdio.h>

int main ()

{
int a, b;
scanf ("%d%d", &a, &b);
printf ("$d\n", a+b);

return O;
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#include <stdio.h>

int main ()

{
int a, b, t;
scanf ("%d%d", &a, &b);
t = a;
a = b;
b =t;
printf ("%d %d\n", a, b);
return 0;
}
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O int &d
O float %f
O double %1f
O long long %11d (%I64d MinGw gcc)
O %.31f, %.01f, %.2f %3d %03d
O printf("....\n")
O return 0;
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#include <stdio.h>
int main ()
{
int a=1,b=10;
int sum=0;
for (int i = a; i<= b; i++)
sum += i;
printf ("$d\n", sum);

return 0;
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#include <stdio.h>
int main ()

{

int x, n=0, min, max, s= 0;

while (scanf ("%d", &x)==1)
{
s += x;
if (x < min) min = x;
if (x > max) max = X;
n++;

}
printf ("%d %d %.3f", ,min, max, (double)s /n);

return 0;
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#define LOCAL
#include <stdio.h>
#define INF 1000000000
int main ()
{
#ifdef LOCAL
freopen("data.in", "r", stdin);
w", stdout);

freopen ("data.out",
#endif // LOCAL

int x, n=0, minx = INF, maxx= -INF, s= 0;

while (scanf ("%d", &x)==1)

{

s += Xx;
if (x < minx) minx = x;
if (x > maxx) maxx = X;

//printf ("$d %d %$.3f", ,minx, maxx, (double)s /n);
n++;
}
printf ("%$d %d %.3f",minx, maxx, (double)s /n);
return 0;
}
fopen () B fxih &
#include <stdio.h>
#define INF 1000000000

int main ()

{
FILE *fin, *fout;

fin = fopen("data.in", "rb");
fout = fopen("data.out", "wb");
int x, n=0, minx = INF, maxx= -INF, s= 0;

while (fscanf (fin, "%d", &x)==1)

{

s += X7

if (x < minx) minx = x;

if (x > maxx) maxx = X;

//printf ("$d %d %$.3f", ,minx, maxx, (double)s /n);
n++;

}

fprintf (fout, "%d %d %.3f",minx, maxx, (double)s /n);
fclose (fin);

fclose (fout) ;

return 0;
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